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Paper : BC-14 1. (i) What is meant by Audit ? Discuss the
Time : 1% Hours | [ Maximum Marks : 70 limitations of Audit in brief.
Note .— The question paper is divided into two Sections SRV HT FA AT T 7 STHEI HI HAQIS HI
A and B. Write answers as per the given Hor & i AR
instructions.
FeeT - I we-uF ‘o1’ @R ‘9’ 9 wuel | fawfea ¥ yoE (1) What are the requirements of Internal Audit
U % fwgEr s & I i Department ?
Section-A 4x3'%,=14

ek STherur faum 1 avIesdd sdEy |
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of (i) “Vouching is the backbone of Auditing.”
the question delimit your answer in one word, one Explain.
sentence or maximum up to 30 words. Each
question carries 3% marks. “THE SThET W UE H TSl ol HHEEY |
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(iv) What are Secret Reserves ? What is the duty (viii) What is the purpose of designing data entry

of an auditor when he discovers their and programme controls ?

existence ? fesmsf 2o wfafe qan wEwg f==on <1 =0

T GO B & 2 Seherh w1 Sel SRl wal REAT ?

I ¥ A HE F kA § 2 Section-B 4x14=56
(v) What will be the position of an auditor when (Short Answer Type Questions)

dividend is distributed out of Capital ? Note .— Answer any four questions. Each answer should not

‘iﬁﬁ H 9 o e SH W sThee i feafa exceed 200 words. Each question carries 14 marks.
g geR BT 2 TqUE_a

(vi) Define Investigation. Mention any four (g ST q9)
objectives of Investigation. frder .- fpl W Uw F Sw AR ST S S
STIEHT BT TR 1 SgET b W aferrad 200 Y=t # ufwdfoe F YO T
IRYF AR 14 7% &1 T

(vii) What special points should be examined by 2. What is an Audit Programme ? Draft an audit
Cost Auditor while audit of Stock ? programme for the audit of a trading company.
W 1 FHET FIA FHA TG STeherh i b TR FHEUFT FN T 7 ThH AWNE Fot & fou
fag™ 9t S S =@mey ? HFAT FRFE TR |
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3. How would you verify the following ? 5. What are divisible profits ? How are they

(i) Investments ascertained ?
(i) Goodwill faurem 9rg oy fRd wed € ? s fauio feg
(111) Plant and Machinery Th rehq| STl %‘ ?

(iv) Furniture 6. Distinguish between a clean report and a qualified

o o~

Y TS ohl A9+ ch AnlX ch{.‘l ?
(i) fafwm
(i) i

report of an auditor. Draft an imaginary clean

report in the manner prescribed under the Act.

h eI i T3 qU HAlfed U H 3R Tt oy |
(ii) == qEn i sAfafr grr fuifa e S T Feat wes R

(iv) =R

FT YT TKA hITT |

4. “An auditor is a watchdog and not a blood-hound.” ) .
7. What is a Government Company ? Critically

In the light of this statement narrate the duties of

. examine the present audit arrangements of
a Company Auditor.

“Th e TEAE H A BY h EHE §, e
T ® T T T w W e H e gy Fe TWHR FA 7Y Fed € 7 TR HHA1 i aaH

FAHeF & Haed oy | STHE AT T AR AR IS |

Government Companies.
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8. Discuss the objects and advantages of Cost Audit.

How does cost audit differ from Financial Audit ?

TN SThel0l & Sevd U9 oY Saist| TN STeheqol
foxita sihemr ¥ fvg yR fim § 2

9. Write explanatory notes on the following :
(i) Partnership Deed
(i1)) Audit Under Agreement
(ii1) Types of Debentures

(iv) Methods of Depreciation

frefafea w =reacrs feufrar difsT .
() UERR o
(i) 99T & T=wiq Shero

(iii) Horas & YR

(iv) Toae™ =i fafear
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